Word Problems: Multiplying and Dividing

Solve the problems using multiplication and division

A florist uses 110 roses. She makes bouquets with 11 roses for a party and Megan gives the same number of photos to 3 different people. She took 25
places 2 bouquets on each table. How many tables can she decorate with photos during a party with friends and she made 3 copies of each photo.
bougquets? How many photos does each person have if they each have the same

number of photos?

Megan gives the same number of photos to 2 different people. She took 17 Joanna sold some clothes online. She had 3 pieces of clothing and sold

photos during a party with friends and she made 6 copies of each photo. them for $3 each. She shared the amount she earned between 5 charities.

How many photos does each person have if they each have the same She gave the same amount to each charity. How much did she give each

number of photos? charity in the end?

Joanna sold some clothes online. She had 9 pieces of clothing and sold A florist uses 120 roses. She makes bouquets with 12 roses for a party and

them for $10 each. She shared the amount she earned between 5 charities. places 5 bouquets on each table. How many tables can she decorate with
She gave the same amount to each charity. How much did she give each bouquets?

charity in the end?
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